Manuals+ — User Manuals Simplified.

AYLA SIDE TABLE Assembly Instructions

Home » AYLA » AYLA SIDE TABLE Assembly Instructions "

Contents
1 AYLA SIDE TABLE Assembly
Instructions
1.1 COMPONENT CHECKLIST
1.2 FITTINGS
2 Documents / Resources
3 Related Posts

AYLA SIDE TABLE Assembly Instructions


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/ayla
https://manuals.plus/ayla/ayla-side-table-assembly-manual.pdf

D

People needed for assembly Estimated 30 mins

Product Assistance Line: if you require any advice about this product or require any missing fixings, Please call
0800 083 35 73 between 9.00am and 5.30pm, Monday to Friday. If you are missing any of the components from
the components list please contact JD williams directly on 0871 231 2000.

COMPONENT CHECKLIST



(1] Glass Top 1pc

(2] Leg 1pc

(3] Leg 1 pc
FITTINGS

Ruler - Use this ruler to help correctly identify the screws.

g 5 1 G 0 25 30 35 40 45 50 55 D 65 TD TR B0 BS  80 B5 100 105 110 195 120 125 130 135 140

® (mesw Bolts (M6x25)  1pc {pam Bolts (M6x15) 4 pcs

© Flat Washers 5 pcs ® ¢  AlenKey 1 pc

ADDITIONAL TOOLS — —

(not supplied)

Philips head screwdriver

IMPORTANT: Read these instructions carefully before attempting to assemble. Retain these instructions for
future reference.



Health and safety

« Assemble on a soft level surface to avoid damaging the unit or your floor.

« This product should not be used if any parts are missing or broken.

« All fixings should be checked and tightened before use and periodically tightened.
» Do not strike with a sharp implement.

e Do not allow product to become wet.

« Always use on a level and even surface.

« To ensure an easier assembly, we strongly advise that all fittings are only finger tightened during initial



assembly. Only upon completion of the assembly should all fixing points be fully tightened.

How do I care for the ayla side table

« Wipe clean with a moist cloth

« Do not use abrasive cleaners.

E Note: Do not fully tighten bolts. r

(A P Bolts (M6x25) 1 pc
© Flat Washers 1 pc

E] Note: Fully tighten bolts.

fmm Bolts (M6x15) 4 pcs
(© = Flat Washers 4 pcs

(@ & Allen Key 1pc

Documents / Resources



AYLA AYLA SIDE TABLE Assembly [pdf] Instructions

AYLA, SIDE TABLE Assembly, XK180, XK711, XK713

Manuals+,



https://manuals.plus/m/be26a63c85fa346611f6047748e6e551ca86eba1347d0678b36b1e38a53791af
https://manuals.plus/m/be26a63c85fa346611f6047748e6e551ca86eba1347d0678b36b1e38a53791af_optim.pdf
https://manuals.plus/

	AYLA SIDE TABLE Assembly Instructions
	AYLA SIDE TABLE Assembly Instructions
	COMPONENT CHECKLIST
	FITTINGS

	Documents / Resources


